(2] 20193 10kt fALS| R Satilef
T %d= - s1A yox a8 /9at Alo|ziq
— - O E H/ 8= B/HEACETI A 27t HSS Sa/8% Mol Zat
= =&
=3 H2%E
E x~ o K _Dx. 10l 18
Y oluy s o e TEE o
S | CHMILHd | bedaquiline fumarate 120.89 x s s e o 0 . -247 1R mg, T 32 olol £1
7| ZSOF g #158,000/3 SHoj| CHer HERH. (4BAIZF 0|4 7429) el St
o & X &7|7h 245,
QFMl
[2Bto|efE)
A g 1g/2
B e sy HUZE B o BE U - A0l 2-8g/day, 24014 20} 1- -
x =
5 °® rhamnosus as living g SAF EA M 4g/day. S
germs 250mg/g
ot}
1. dele| 20| ZITHE CtE’d mopE2 t|§_
7|0 AL Xzt HE, Of = ZHE 6F7I7HA| Bt = &
o 7ts.
[ =Z2lofF] « HE X2 Al: 1€ 75mg/m2E 427t 4 WAL K|z HESH
HZ & 100mg ¥54,268/cap HA 28
temozolomide 100mg « B RO AL 2R HAMY Xzt HE 7|20 ELt 45 Zot
= 2HE 637X H=EF0 Jts.
« 17| I 150 2E 57t S 237t BoF
x ME=E . Ty: )\r:xr A?ngq/-?HT & EO1A1TA’<§| ZBFI;(E*E [P =
o Q%*XIE E_|—| = = - - =21 =1} %LH/QI %I’-I'
7| i E M2l HijzEF =X 1.5x109/L 0|4, AT £=X| 100x
109/L o|Ate AL 200mg/m22 E&.
(M 2 o|otx, 2./gdelo| mEQHO| Mujs XY, TWY CHEd wotks o oj&
ot s SIAMNESO| K| 2.
2 == 250mg = FO &
temozolomide 250m #128,831/ca - BAEZ SIS X2 LA &2 21Xk 19 18] 200mg/m2
o ‘ FEP g suz =g @ p3uzt wet, & 280] B 57
Ao AL  JAEE St YN X2 2 2HAp: =382 1Y 13
o 150mg/m2, @AatX £40| gl 42 & HM F7I12H 12 13
200mg/m2& B, 57t £0f.
TToATITS =0T R S, e
M ojorz 19 18] OFY A% FA| £0f = .
g aowp xS EAEE 71820z 18] smgy 121 (CIEHHOIE i
2 =27 HiC|Z|s 2|ELE Z4& 10mg | W361/10mg/cap TR 2| Smg¥ 10,20,30mg MAHEEH Q!
= methylphenydate HCI °l(Oh) £E 20101, B&) + st Cj o
of, etxtel K| ZEtgat Lot - )
ek ofF 1Y 822 5 ~ 10mg SiLy/9|
=] (=4 =
S aoHp X EEEI%E] 6M ool 40 YAH 8 el ¥ S Max. 60mg/day (HIELEIO|E CDT%&
HC[7| 2|ELE & 20mg | W534/20mg/cap o] Z=o|2 74 m T QI BH E X} Aol 1Y 23] (OFAl, HAl) Al
= Z2X| O ol AHE UM ZEOH 2) 8¢ 1% 23 ,Bo) AN 10,20,30mg 44 MARECE O
methylphenydate HCI (ADHD)Q| X2 = ZA &Y t CHH 2
ZI7|82E 13 5mg, 1€ 23]
0o o|OFIT
[E"-':Q:E] o (OhY, Bd) 0, 2hxjo| K| =zt e
S ADHD %] MIEI7I2 2[ELE WS 30mg St Lfetdof et ijF 1Y & (HEtHO|E cDE
= 27 methylphenydate HCI W669/30mg/cap %S 10mg¥ S, 10,20,30mg MAHSEE QI

3ol

=

Max. Tmg/kg/day, 1
XM= otEl

| 80mg=

[ )




